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1. anfer % 39 geddie sTgSm HARER BiY. @1 faaE TeR el
TIE WA HEd el STHINS FHI Heavgs GUISTel guuR  FHIasiicre STuareTe!
T BOGH ¥ .

(1) THAW Ygde T FOE At
(2) g BN BIAGR T THEA SAHe JFAEE
(3) TEEE RIS T FORE Wit
(4) warEn HUL iy anfr safémra v g e
and were two Building Contractors in Mumbai who realised the
importance of modern print media in the spread of ideas and donated a printing
press to the Satyashodhak Samaj so that the Samaj could pubhsh their books and
journals.
(1) Tukaram Padval and Krishnarao Bhalekar
(2) Vyanku Baloji Kalewar and Ramayya Vyankayya Ayyawa.ru
(3) Ganpatrao Patil and Krishnarao Bhalekar
(4) Jaaya Karadi Lingu and Jaysingrao Saibu Vadnala

2. e siews wEa R Svard SRt Rt A s seft g
(1) TEm = | (2) ™IS F TREA
() o TmEt " (4) v P qut
—_ got the prestigious Shivaji scholarship to go to England for studying law.
(1) Khudiram Bose (2) Gopal Krishna Gokhale
(3) Vinayak Damodar Savarkar (4} Shyamji Krishna Varma
3. B ST A7 Heied Al oA HIRHFEER Wieuft .
A, HSNM Wi g q. =g 9 gemE
F. A < 3. unlw S=aw
it 3o ;

1) %,9,%,3 2) 9,%, A, 38 3 #A,%, 49,3 4) €, %, 3, H
Arrange these movements led by Dr. Ambedkar in their chronological order.

a. Kalaram Mandir Satyagraha b. Chowdar Tank Satyagraha
c.  Burning the text of Manusmriti d. Movement of religious conversion
Answer options :
(1) ab,cd (2) b,c,a,d 3) a,e, b, d (4) b,c,d,a

4. g femem nfi aww qddied qemvmreh et T ey @=t s e
g TEIEE < o JOuTdie wdguTon Seadi Fel o
(1) Yo J9s (2) T 9Bas
(3) VRN dwde (4) omfcaniiEt 9oas
Noted philosopher and public intellectual Tarkateerth Laxmanshastri Joshi, in his
article discussing the Indian Renaissance, compared the in Maharashtra
with the Protestant Reformation in Europe.
(1) Bhakti Movement {2) National Movement
(3) Non-Brahmin Movement (4) Tribal Movement
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5. PR Raads a8 weus S 8 ?
(1) o JE aEe '
(2) THT. e
(3) ofurg 3mgd M
(4) Pt R
The founder of Kamgar Hitvardhak Sabha is
(1) Narayan Meghaji Lokhande
(2) S.N. Bhalerao
(3) Shripad Amrit Dange
(4) Bhivaji Nare
6.  TEH B TeEER s e w4 aaeh vogd 2
(1) SFrekay (2) Teurd
(8) fa=g amm (4) qaF
Which of the following plays was not prescribed by the British government ?
(1) XKeechakvadh (2) Dandadhari
{3) Vijay Toran (4) Tritiya Ratna
7. TAT TIGIEAS [EaF SeAEE oF 98 aeausd e @Rt . s

W HeUE A€l Yaad] HOITE TR S EE 1924 AEY FEn. g S /e gEn
FE4 YU FH T

(1) mtﬁﬁl’vﬁ (2) TTE feamet

(3) TAYTS JUH (4) oS0, gt

_ was sentenced to two years of rigorous imprisonment for publishing a
seditious book. The British government in 1924, offered to set him free, provided he
was to accept certain conditions, however he refused such a conditional release.

(1) Hasrat Mohani (2) Rangrao Diwakar
(3) Rambhau Pradhan {4y B.G.Horniman

#eeqT FTHFATA! SIFT / SPACE FOR ROUGH WORK
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HETH] G JTeATETEd JEteris P o sae o ?
(1) T TeTgean TRTays T8 T4 Fa.
(2) = Sfadg fRser 3 v fafes.
(3) o BN fage aresaem Tl wea el
(4) < GEARIYT TA T Fel,

Which of the following statements about Mahatma‘Phule is not true ?

(1) He started a shelter for preven_tibn of infanticide. ‘
(2) He authored the book ‘Jati Bhed Vivek Saar’.

(3) He was supported in his work by Moro Vitthal Walvekar.

(4) He founded Satyashodhak Samaj.

I

9. gud WiarAT HEHeesn Ui e aede FOR T FEel 9 6, Wy ¥ FoRmrgd
AT FOM N7 wert FvaT=ht TG HIOME § T THeIS &K __ 3t w5

AT Hefl.
(1) 1g. 90 (2) HaWm %Y S
(3) T deeare (4) WA wﬁw

The Bombay Provincial Legislative Council passed an act concerning compulsory
primary education but did not define any deadline nor specified the responsibility of
education and hence invited strong criticism from

(1) R.P. Paranjpe (2) Sitaram Keshav Bole
(3) Chimanlal Setalvad (4) B.R. Ambedkar

10. 30 WERR I WA Toemd wame fasfi mm&mﬁawﬁmm

i weasdEe Geger aftd el 2.
(1) S=YUd. Bog@ad (2) fosst fiw
3) wgs fafasng (4) TR T

A three-member commission appointed to make recommendations regarding the
financial relations between the princely states and the British government in India

was headed by 7
(1) W.S. Holdsworth (2) Sidney Peel
(3) Rushbrook Williams (4) Harcourt Butler

-
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11, afaum aven uge aftfie oo weo . TETETRY ofidee At fas 71 feadht
FOITF Al
(1) 20 AT 1947 (2) 29 AT 1947
(3) 14 =R 1947 (4) 24 G 1947
Dr. Babasaheb Ambedkar was chosen as the Chairman of Drafting Committee of the
Constituent Assembly on
(1) 20th August 1947 (2) 29th August 1947
(3) 14th November 1947 (4) 24th September 1947
12. foummn ayomaeh 8 oma
A, faurmd=m AR Iy T .
9. wmemNr g o e 3w swessTavi w.
%. | fafay afcren steagre SEoEs #l.
it I ;
(1) ®F A, T (2) e A, *
(3) ®FT, F (4) IO v
Functions of the Speaker of Legislative Assembly are
a. To preside over the meetings of the Legislative Assembly.
b.  Tointerpret rules of business and enforce them.
c. To appoint the chairman of different committees of the House.
Answer options:
(1) Onlya,b (2) Onlya,c
(3) Onlyb,c (4) All of the above
13. 123 swuiem v gesh fadws 2017 Famh defad s ?

(1) THewed ufgar Eo

(2) wndR wfamren weemn aitiee gesh

(3) U WATESTTA AT HauTs go <0

(4) W wfyumTsa 8 =41 SR ‘offer @ WA 9iEd Soo R4 4 afEar o@
F0

The 123™d Constitution Amendment Bill 2017 is dealing with

(1) Women reservations in Parliament

(2) Amendment to 6th Schedule of Constitution of India

(3) Granting National Commission on Backward Classes (NCBC) constitutional
status

(4) Substituting the name of the language which appeared as ‘Oriya’ in the
8th Schedule of the Constitution of India with ‘Odia’

FHoeg] HETHTS! T / SPACE FOR ROUGH WORK
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14. VRar=w e ETerE qelt gEre faumA gdie fgme o
T, WA SRUET et AR AT e Al § w1 fEea diedad AR,
%, waE A A oAt 1937 9 1950 T betw HIE ATE §T ¢ w@ren i
HAE TN
3. WRATEA WA A S B el a7 fE s =,
i I |
1) HA,9 (2) B S 3) &, 3 (4) B HA
Find the incorrect statement/s about Supreme Court of India (SCI).
a. SCI functioned from the Parliamentary House till it moved to the present
building.
b. The Constitution of India has left it to the Parliament to increase the number
of judges of SCIL.
¢.  Prior to SCI, from 1937 to 1950 the Federal Court of India was in place of it.
d. The proceedings of the Supreme Court of India are conducted in English and
Hindi only.
Answer options :
(1) a,b (2) Onlyd @3 e¢d (4) Onlya
15.  TSoUE=AT ‘Tengs’ e @reliatdl vl faum sue 97t ?

(1) & 4. ST Yo I TR Feed 7 wiedew Ifeerear suaET smaia .

(2) 1995 Fefiet Wit s e ey GeeaTa ‘TeameAT 81 TsHere = Thifches Wi 31 37
TEE TR o F9.

(3) 1975 =1 42 T TEAGERA FATY Fearad — THERY, uﬁﬁﬁaammwm
YT TREY AT T TR,

(4) WEGTEAT 8 FECHSHTS Aftehrral Sad T 7 = ARFRR Fu-d 9o @t

Which one of the following statements about the ‘Preamble’ of the Constltutlon is
nol correct ?

(1) It is based on the ‘Objective Resolution’ drafted and moved by Pandit
Jawaharlal Nehru.

(2) Inthe LIC of India case (1995), the Supreme Court held that the ‘Preamble’ is
an integral part of the Constitution.

(3) The 420d Amendment Act of 1975 added three new words — Socialist, Secular
and Unity to the Preamble,

(4) It is neither a source of power to legislature nor a prohibition upon the powers
of legislature,

eI HITHIEE FTT / SPACE FOR ROUGH WORK . P.T.O.
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16. YRAY GRS dqiHl heled! JuiHTETEd FNe o&T

A HH. wHer I HgRa quey
q.  Teda AER II. WEHH GosY
%, WiE I 1. Fo-eurss
3. e A IV. Yo@ ¥4/ gt Gosd
i I
A L) % 3
(1 1 I v
2 1o 0 I A%
3 IV m 11
(4) III IT IV 1

Match the pairs regarding comments of experts about the Indian Federation :

a. K.C. Wheare I.  Bargaining federation
b. Granville Austin - II.  Co-operative federation
¢.  Morris-Jones III. Quasi-federal
d. Ivor Jennings IV. Federation with a strong centralising tendency
Answer options:
a b c d
B I I1 111 v
(2) 11 IT I v
3 IV I11 IT I
(4) 1III IT v I

FeeqT FHITS! AR / SPACE FOR ROUGH WORK
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Shifda snftr saferma warsaN @ (3weg-21) I TR _ _ =1 QU 2.
HOET e
T FOATET §5
T TR
wHaaTET= g e
wid’t:wﬁ
1 #4,9 (2 9,%,% (3 #¥,9,3 @ &,%g1%

w oo g oAy

The scope of Right to life and personal liberty (Article 21) includes :
a. Right to strike ‘

b. Right to go abroad

Prisoners right to have necessities of life

d. Right to bonus

e. Right against solitary confinement

o

Answer options :

(1) a,b (2) b, c, e 3) a,b,d (4) ¢, d,e

18.

Tt Fve faam e o ? ( (TRRTETA wewta) -

(1) T ofistsn sreagme ow Y 9 TG T Gl ‘g wfirdieT uﬁrﬁ%ﬂc—q’
FEE! THHERE HUd Aram.

(2) Toum o= rememE oie Yg ST TG 3o e ST U9 Wi TmieRE
wd Ardrd. |

(3) fAum diwd=al oAy Ui M WA @) 9% GCE OESE IGEH HRdR
e AT amEie wud avaE.

(4) ottt vad Td

Which one of the following statements is false ? (With reference to Maharashtra)

(1) The Chairman of the Legislative Council has to nominate not more than five
members to represent on the ‘Estimate Committee’.

(2) The Chairman of the Legislative Council has to nominate not more than five
members on the committee on ‘Panchayati Raj’. .

(3) The Chairman of the Legislative Council has to nominate not more than five
members to represent on the committee on ‘Public Undertakings’.

(4) None of the above |

FTeqT BHTHIST AP | SPACE FOR ROUGH WORK P.T:O.
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19. 9RdT TsEuEA= AI=8E 51A Wl Wieledehl HIVIFT AT HAoaal GHEY S A
ATET?
. A WiHA TR Wg R Hid SO A S S,
9. faemte gfem, ameaER it Musgd 3 gawomarg Fm fawe S,
%. TP oo HEwre e S St S, TS St e 2 HE,
T AGH T T A ATEEIH N WA g AT T HOGET 5} A0,
ot I
(1) &, ¥anfor=
(2) 9 & AME
(3) g
(4) ®FIq
Which of the following is/are not included us Fundamental Duties in Article 51A of
the Constitution of India ?
To value and preserve the rich heritage of the country’s composite culture.

b. To develop the scientific temper, humanism and the spirit of inquiry and
reform.

¢. To protect monuments, places and objects of artistic or historic significance
which are declared to be of national importance.

d. To prohibit the consumption of intoxicating drinks and drugs which are
injurious to health.

Answer options :
(1) a,bande

(2) b,candd

(3) candd

(4) Onlyb

20. mmmm@mﬁmmﬁwwm
gus JFvarHEHl R ?
(1) 47 (2) 48 (3) 49 (4) 50
Which one of the following Articles of the Directive Principles of State Policy deals
with the separation of judiciary from executive ?
) 47 @ 48 (3) 49 (4) 50

TN HHTATS! 9T / SPACE FOR ROUGH WORK
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21. ﬁwm—(ﬁﬂﬁmmm)

‘or (gwvE) ‘F (g | qITH)
sy L fgofa
9. &gt I F9d 3
%. W@ Il drersg Frerd

T UH MNP UGH V. WeRE 3
it 3=t
e T ® 0B
(1) III v I IT
2) II II1 Iy 1
3 1 I\Y III I
4 ™ I I 111

Match the pairs — (Newspapers in Samyukta Maharashtra Movement)

‘A’ (Newspaper) ‘B’ (Editor / Owner)
a. Prabodhan I.  Dinu Randive
b. Navyug II. Keshav Thakre
c. Prabhat III. Walchand Kothari

d. Samyukta Maharashtra Patrika IV. Pralhad Atre
Answer options:
a b c d
(1) III v I J1
(2) 1I II1 v I
@ I v III I
4) Iv II I 111

L13
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22. Il awdiean devid, @refter Sitew Feor e

o (wT) ¥ ()
A, w153 I Trummd seay 9 J9meas
4.  wem 178 II. T AET e
%, HeE 171 UL TSRl TSITe 39a0t
3.  HOH 165 v, foum ofted < @
grefte fidean gehary I/ I e
it

A T &6 z
(1) 1 I v 1
2 Iv 1 1 11
3 m 1 v 1
4 1 )\ n I

Match the following pairs correctly regarding Constitutional provisions :

b.
c.

d

‘A’ (Articles)
Article 153

Article 178
Article 171
Article 165

L

IL

IIL
Iv.

‘B’ (Provisions)

The Speaker and Deputy Speaker of the
Legislative Assembly

Advocate-General for the State

There shall be a Governor for each State

Composition of the Legislative Council

Choose the correct answer from the codes given below :

Answer options :

{1
(2)
(3
4)

a
I
v
111
1

b
I
11
11
v

c
v
I
v
i1

II
I
I
I

TEYT HHTETST A1 / SPACE FOR ROUGH WORK
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23. AW H NS
. Hye wewy At e @, e g aeedEreh g A 6 e, 1956 s
EISIS _
5. W e, e Hiee FREF o fig e 3w mewg whidiaed anlie Wit
B,
wafdh v |
1) %A - (2) W |
(3) t anfor = g (4) & sl § g T
Select the correct statement.
a. Samyukta Maharashtra Samiti was established under the chairmanship of
S M. Joshi in Pune on 6 February, 1956.
b. - Bhartiya Jansangh, Schedule Caste Federation and Hindu Mahasabha were
involved in Samyukta Maharashtra Samiti.
Answer options :
(1) Onlya (2) Onlyb
(3) Bothaandb (4) Neitheranorb
24, @i SR fym g I 2

H, AR — GHEAT FRANET M6 Tarong Jenfd TFH Sgud St I, I e
LH a:wﬁsr aeht TrETen e Heden v HEQ TG FOMT A | HOm 3,

. Wmmmmwm
uafdy = ;

1) %= H (2) e ® 3 W& (4) HE T

Which one of the following statements is incorrect ?

a. Anordinance cannot contravene the Fundamental Rights any more than an act
of Parliament.

b. An ordinance may be retrospective or may amend or repeal any act of
Parliament itself.

¢.  The power of ordinance can be exercised by the President without the advice of
the Council of Ministers.

Answer options:
(1) Onlya (2 Onlly b (3) Onlyec {4) None of the above

HEGT FERIIG! SIFT | SPACE FOR ROUGH WORK : P.T.O.
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25.  WRAM= wive geEiHl Aum v fieeh a2
N, frw sma . TG
%, U9 g 9E
JaTeY I ;
(1) #,9 (2) %, 8 3) A, 9% 4) 9, %, 8
Which States abolished the Legislative Council in India ?
a. West Bengal b.  Tamil Nadu
¢. Punjab _ d. Gujarat
Answer options:
(1) a,b 2) ¢ d 3) abc (4) b,c,d
26, HRAEAT WERES 9 @efia Ty e

3. O I 99T FEEBEE] YEET 8.

q. o UgadE 99 318 wid ggrer Uedi.
%. q "8 verar favmifien fevam um amamd.
g A e OO Yo HgEIR ATUST MEHE S TEa.

T} I ;

(1) Taum o1, 9 <= 3mga

(2) fum 9, %, s |Ww ama
@) foam =, % s ARG

(4) Taum o1, ¥, %, T T A=A

Consider the following statements about the ‘Attorney General’ of India :

a. He holds office for a term of five years.
b. He holds office during the pleasure of the President.

o

He is entitled to the privileges of a member of Parliament.

d. He ig not a whole-time counsel for the Government nor a Government servant.

Answer options :

(1) Statements a, b are correct
(2) Statements b, ¢, d are correct
(3) Statements b, ¢ are correct

(4) Statements a, b, ¢, d are correct

o=l HETAIS! AT / SPACE FOR ROUGH WORK
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27. HHEFBHIR I FH AE1 (FERE THIE)
. T 9da ( 9. &l Yo g Yt
%,  U.H. ISt 5. dtedt b=
Qg I
(1) N, 9,%,% (2) ¥#,9,3,%
@) H,B A+ 4) A#A,%, 9,3
Arrange in an appropriate order according to the tenure (Governors of Maharashtra) :
a. Vijayalaxmi Pandit b.  Dr. Shankar Dayal Sharma
¢. P.C. Alexander d. P.V.Cherian
Answer options: .
(1) a,b,c,d (2) a,b,d, e
3 a,db,c 4) a,cb,d
28, WEIA AN IEAY YT
| we g
A, FEH 54 I S wEel aer tpad Tl fade sme
9. &a9 — 53 II. warear Tgwt ot Feaevw et faes 1se
F. w58 III. sTRar=aT Upadt affer weritmm whea
T. oW -61 IV. SRarear Tgadt St fAasuht wedt <t aran
wrfie fecean wamga 2 3 faen
it I : |
A q < z
1 Iv II1 I II
(2) 1II I IV III
3 III II IV I
4) 1 v m  1II
Match the following pairs correctly :
Articles Provisions
a. Article — 54 I.  The Executive power of the Union shall be vested
in the President
b. Article — 53 II. 'The electoral college for the election of the President
of India

c.  Article - 58 I1I. Impeachment process of the President of India

d. Article-61 IV, Qualification for the election of President of India
Choose the correct answer from the codes given below :

Answer options :

a b e d
(1) IV IT1 I II
2 II I v IT1
3 Im . 1 v I
4) I v I 11

TOT HHTHII SR / SPACE FOR ROUGH WORK P.T.0.
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16 A

Iy FAIA HeEl.

&, AoeR gt e wfid e aERg ose fifaisen 1972 1o b,

q. Qo gt IS TR HEEmEY 1975 Wed e,

&, Qam gt Ao witdaed ogon weE wea 25 TR

it I

(1) BFAH, T (2) BHE, *H (3) wFAH (4) ‘#RTH

Select the correct statement/s.

a. Employment Guarantee Scheme Committee was established by Maharashtra
State Legislature on 1972,

b. Employment Guarantee Scheme was initiated in Maharashtra on 1975.

¢.  Total number of members in Employment Guarantee Scheme Committee
are 25.

Answer options :
(1) Onlyab (2) Onlyb,c (3) Onlyc (4) Onlyb

30.

e yed wfvw gadlt wwelts faur fagwa o

# AT T HER WE RV R ST,

4. | ahH TIE SIS FUH S .

%. o fawrfig ofiwe= (Zonal Council) 7&7 |fua wup@ sl wadw.

T A TSR AN Fg TEEE 9% TEUES U@ G V[ A SEEE.
%, 4 a9 s arF (Residual Legatee)ﬁa'“ﬁﬂ'&'{ﬁ A,

ot I _
(1) faum =1, 5, %, T SO 278 (2) T =, =, T, § S0 wRd
(3) fum #, =, T, § SUaaTR (4) fam &1, 7, %, § = R0

Consider the following statements about the Chief Secretary of State :

a. He acts as the head of the State Civil Service.

b. He acts as the crisis administrator in chief.

c. He also acts as the Chief Secretary of the Zonal Council.

d. He acts as the principal channel of communication between State and Central
Government.

e. He acts as the Residual Legatee.

Answer options : |

(1) Statements a, b, ¢, d are correct (2) Statements b, ¢, d, e are correct

(3) Statements a, b, d, e are correct (4) Statements &, b, ¢, e are correct

FFoeqT HITATS! AT / SPACE FOR ROUGH WORK
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31.

Iy R e

A FR urld deas g9 AR TgTdien oM.

7. ¢ arle aeas S AfHR TSI 3TR.

%, g derh R gt g v oA

3. g e e TadTel gaT ST FE YA,

i 3w |
(1) w6 A, § (2) %%, 3 (3) FHA,H (4) & F,3

Select the correct statements :

a. President has all powers of court-martial.

b.  Governor has some powers of court-martial.

Death sentence can be pardoned by the President.
d. Death sentence can also be pardoned by the Governor.
Answer options:
(1) Onlya,b (2) Onlyb,d (3) Onlya,c (4) Onlyc,d

32.

gt faam foamm =

A, m&ﬁmmmmwﬁmmmﬁmmﬁ
WA TR AT,

q. mmmmmmwmmm
HieaTdl FEfEEd) - T et A TSI AN Foel! 9 Irmelt al - FEe FHErE
arfrrR 2R,

g 3w :
(1) Fam % at= @ faam 9 N

(8) A fagm Th=h 4) WV faam st

Consider the following statements : |

a. Nolaw made by Parliament shall be deemed to be invalid on the ground that it
would have extra-territorial operation.

b. Parliament has the power to make laws with respect to any matter for any part

of the territory of India not included in a State notwithstanding that such
matter is a matter enumerated in the State List.

Answer options :
(1) Statement a is correct {(2) Statement b is correct
(3) Both the statements are false {4) Both the statements are correct
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33, ey 9@ (WRATHS 3= =)

‘o’ (3= =) T (Furg )
A, TSN I 1975
5. fiwhm II. 1949
®. T WRW 1. 1936
3. Rg IV. 1966
it 39 ;
H q ) kA
1 I 11 I  Iv
2 I I Im v
3 I II IV III

4) IV II1 II 1
Match the pairs (High Courts in India) :

‘A’ (High Court) ‘B’ (Establishment Year)
a. Rajasthan I. 1975
b.  Sikkim II. 1949
c. Madhya Pradesh ITII. 1936
d. Delhi IV. 1966
Answer options :
a b c d
(1) 1 IT Im 1w
(2) II I I v
3 I I A% 111

4) IV III II I

34, Tem wEmy faumEverd THERET ® ogted et Tdia sRd o
TAGREY 3 o FeTdiETd T ITgd.
(1) 33-14 (2) 15-16 (3) 29-25 (4) 26-27
At present constituencies are reserved for Scheduled Caste and
are reserved for Scheduled Tribes of the Legislative Assembly of Maharashtra.
(1) 33-14 (2) 15-16 (3) 29-25 (4) 26-27
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R o AT

ar. o Tadtas gdvew o iRaYd WS 19 I

q. ey e weem dema e Tere aiE Howd @R e S vk,
. Uyadrea Rend o fadas dugmed i Aq .

T O i 3 Tyadie fewER Seie) aear 3 v,

uatdt 3™ ;

(1) & H,F (2) ®hH, S

(3) FHA, T, H 4) ®E A, T

Select the correct statements :

a. A Money Bill can be introduced only in the Lok Sabha.

b. An Ordinary Bill can be introduced either in the Lok Sabha or Rajya Sabha.

c. A Money Bill can be introduced in Parliament on the recommendation of the
President.

d. An Ordinary Bill can be introduced in Parliament on the recommendation of
the President.

Answer options: . '

(1) Onlya,b (2) Onlye,d

(3) Onlya,b,c (4) Onlya,b,d

36.

WAt S faeA gEet R 2

A ATE-365 W UFHdId Usard UFTH Usiae o7 oA ARHR TEM .

4 UEe Ueed i FeTgd U RRSreN weedh o S gueen e
HUTEI WI=IeT Q01 STcAveIwerh 3T,

. W HGITA G T Jraar feeht R et v At Tyt Teee | TE.

§.  TEwd T an) HearEn Cofa = ' % wedl.

gatdt I ¢

(1) w&q o 2 FTRAAMNMSE (3) S AT (4) bog A A

Which of the following statement/s is/are not correct ?

a.  Article-365 also empowers the President to issue a proclamation of President’s
Rule in a State.

b. A proclamation of President’s Rule must be approved by both the Houses of
Parliament within one month.

c¢. If approved by both the Houses of Parliament, the President’s Rule continues
for one year.

d. The decision of imposing President’s Rule can be struck down by the court.
Answer options : '
(1) Onlyb - (2) Onlybande (3) Onlycandd (4) Onlyaandd
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37, G S faum FoEr TR 7
(1) T Ghvssdia HeRI= He Jeaws sFfolte fFarassn @l aes geie
15 ZFRITIET S 379 T T3,
(2) TN nfmeRT vewh e gerraEtye 12 YA S s s .
(3) ﬁmﬁn@mﬁﬁﬁmmm&mwwé@wwmﬁ%ﬁm

(4) i vt A

Which one of the following statements is correct ?

(1) The total number of ministers, excluding the Chief Minister in a Stdte shall not
exceed 15 percent of the total strength of the Legislative Assembly.

(2) The total number of ministers including the Chief Minister shall not be less
than 12 in a State.

(3) The strength of the Council of Ministers of Delhi is fixed at 15 percent of the
total strength of the Legislative Assembly.

(4) None of the above

38, @relioileh! HIueT T2 U599 TSIaYq Sacs UF 968 HEd 7
A, HEA W

CAN

%, femea wew

g T

3. JaUEd

qatzt 3= ;

(1) P A, 9, & (2) HHE, &,
3) BH®,E, 3§ (4) ®wH A, 4, 8

Which of the following States has only one member in Rajya Sabha ?
a.  Arunachal Pradesh

b. Goa

c.  Himachel Pradesh

d. Mizoram

e. Uttaranchal

Answer options :

(1) Onlya,b,c (2) Onlyb,c,d
(3) Onlyc,d, e (4) Onlya,b,d
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39, cirpaieH RaguhEdl e T W 91 Y.
(1) vRaE TEUTT Yhehed
(2) S AT TREREREA
(3) =91 HAGER U FESvE dedEdl A8 w1 HaGR qurial gare wgd
(4) AR SRAA TINE S FIEE GEEE HagR SHIST FagRa T 96 digeaa
ATE ATHA
For election to the Lok Sabha, a nomination paper can be filed by
(1) anyone residing in India.
(2) any citizen of India.
(3) aresident of the constituency from which the election is to be contested.
(4) a citizen of India whose name is enrolled in the electoral roll of any
" parliamentary constituency.
40. s @M@ (TP AfUsR) ¢
‘o | ' <
. vrarsal §YUi fhan waren wemma stofiEmft I  39<az 360
q.  Aggars fadwna 9v o yioey II. 3IT<=a 354
%, HEd ARSI snesaui st . ¥g=a% 352
g T soffamfi=h whyon IV. 3<% 359
qaifi I
<) o D 4
(1) III II I v
2 1 II I v
3) III II | AY I -
(4 III | AY II I

Match the pairs (Powers of President) :

¢ A’ ‘B,
a. Emergency in the whole or part of India I.  Article 360
b.  Restrict or prohibit the distribution of revenues II. Article 354
¢.  Suspend the enforcement of fundamental rights ITI. Article 352
d. To declare a financial emergency IV. Article 359
Answer options : :

a b c d
(1) III II I v
(2) 1 II III v
(3 III 11 IV I
4) III v II I
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41, 98 T YA fouamemsma Fe F& s dea
. T fohar e e vse e fomarde) ser e orft guden faAdt S,
®. TG HEwr=A1 SO [avamarsa Tae q8T Ud ATe SgAdH Bl Heamd.
lerdh! St faumA awiar o ?
et I
1 A,9,% (2) wFd A
(3) e & anfur % (4) TSR uHal AT
The Parliament can make a law on a subject in the State List when
a. a proclamation of Financial Emergency is in force.
b. one or more States make a request to the Parliament to make a law on a State
subject.
c. Rajya Sabha passes a resolution by simple majority that such subjects have
acquired national importance.
Which of the above statement/s is/are correct ?
Answer options:
(1) a,b,c (2) Onlya
(3) Onlybandc (4) None of the above
42, TE= ANFHR T HF AR
. TR T e Sae .
«.  wifedt amfaa,
%. ddwes faften geia et 39,
g ofqurrs weo Fo.
it 3w
(1) S A, 49, (2) A, 5, S
(3) H A, &, 3 (4) R IA, 9,3

The role and functions of the Parliament are
to form or end the Government.

a.

b. to call for information.

c. to monitor the expenditure of public funds
d. to safeguard the Constitution.

Answer options:

(1) Onlya,b, ¢ (2)
(3) Onlya,c,d (4)

Onlyb, c,d
Onlya,b,d
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43. e dft Freidier o reRne) i A
¥}, TPYEN HHEA 9 W,
9. YU JEYE 9 Y.
% TwEE g 3 3 A,
3. WM PEEs 9 vgedl TlEes 30 3 .
it Ia
(1) ¥ 3, 9,5 (2) ®FEH, 8, 9
(3) BHH,H, 3 (4) ala @
The expenditure charged on the Consolidated Fund of India shall include
a. the emoluments and allowances of the President.
b. the emoluments and allowances of the Prime Minister.
¢. the salary and allowances of the Chairman of the Council-of State.
d. the salary and allowances of the Comptroller and Auditor General of India.
Answer options:
(1) Onlya,b,c (2) Onlye,d,b
(3) Onlya,cd | (4) All of the above
44. e 3 veeE Ties 91 I A

(1) vIRarem G gmaed 6 Tpedised iR Fa 9.
(2) wEHGA FfTEd +ol I, _

(3) = wivsen ugmaTa wer Tgudign Pifvee ¥ 9.

(4) Fa wiissrhed Afvea Fo 9q.

The salary and allowances of the Comptroller and Auditor General
(1) are determined By the President in consultation with the Chief Justice of India.
(2) are determined by the Parliament.

(3) are determined by the President in consultation with the Union Council of
Ministers. ‘

(4) are determined by the Union Council of Ministers.

FFOE] HHNIS! SR / SPACE FOR ROUGH WORK P.T.O.



L13
45,  Siee El (AHE ¥EE)

‘aF (wes Usd)

#n,  feuEd wew I
q. T a F9R 11.

. IUEsS II1.
g TMEr v.
gt 3@ ;

H g *

(1) Iv. I I
2 I IV I
®» 1 I

4) 1 v IT

24
@ (v wem)
2
4
5
6

T

I

I

v

11

Match the pairs (Member of Lok Sabha) :

‘A’ (State)
a. Himachal Pradesh
b. Jammu and Kashmir
¢.  Uttarakhand
d. Goa |

Answer options:

a b c
n IV IIT II
(2) 1I v 111

@ 1 1 II1

4) 1 v II

I

v

I1I

I

I11.

‘B’ (No. of members)

2

4
5]
6
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46. fYE e o R gaEy S aferrear 7 o gl admd e
AT AT ? |
(1) = (2) TH
(3) guad 4) 350 sIfusr
‘Local government’ is included in the _ list in the 7th Schedule of the
Indian Constitution.
(1) Union (2) State
(3) Concurrent {4) Residual Powers
47. TEFTRIER SRS REmRd sge faum fas
H, TR SohHel FgE T3 wENTh A% AT
¥, 91 SSHTE ARG A QUATS AIUHR AT,
. HAgHd A ISHHE HOME TS AT TR .
iy I
(1) =1, = (2) wa A AT
(8) wF 1 I ® (4) w& T F
Find the correct statements from below about Commissioner of Municipal
Corporation.
a. The Commissioner can participate in discussions in the meetings of the
Corporation.
b. The Commissioner cannot vote in these meetings.
c. The Commissioner cannot make any proposition in the meetings.
Answer options : :
(1) a,bandec {2) Onlyaandb
(3) Onlyaandec ~ (4 Onlybandc
48, T W WO AREE 31 IR gedt geie faum /A Rae

A, IR Hg e 0t tsg e 9@ S wm snida.

¥, U FEw wmma Sg-usy awevfie R 60 : 40 IR,

®. $IY U T ST TRaTETdl he-Usy aevfiY TeIRR 90 1031%311%
;m%mmmmwﬁ%guﬁmso.manﬁ.

(1) «,9 Hawrg (2) a0 T afr &%

(3) wHH AT 4) wFE

Find the incorrect staterent/s about Rashtriya Gram Swaraj Abhiyan.

a. The scheme congists of Central and State components.

b. The Centre-State sharing pattern for the State component is in the ratio of
60 : 40.

c.  In North-East and Hilly States, Centre-State sharing pattern is in the ratio of
90:10.

d. For all UTs the sharing pattern is in the ratio of 80 : 10.

Answer options :

(1) a,b,candd (2) Onlybandc

(3) Onlycandd (4> Onlyd
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49,

26 A

FoH HSBITIF gﬁigﬁ#ﬁmﬁwﬁﬁaﬁ
T, m@ﬁ@mmmmﬁ?ﬁﬁé&ﬂamwmwﬁmaﬁ

F.  TRGEITHER FF HSB WA TR 1.
watdy 39 ;

(1) A,9MF (2 FTRAATE (3) FTRIAME (4) %R A

Find the incorrect statement/s about Cantonment Boards.

a. ‘Local Self Government in Cantonments’ is included in the concurrent list in
the Indian Constitution.

b. Cantonment Boards are democratic bodies which look after the municipal
administration of notified areas.

¢.  There are three population-wise categories of Cantonment.

Answer options :

(1) a,bandc (2) Onlyaande (3) Onlybande¢ (4) Onlya

50.

Y= WehiTd Yo wewia geid faumrgm gebie favm fae.

(1)m@wmmmwmwﬁwm%m%ﬁﬁaﬂ%w
TG S .

(2) u=Ed U9 @ i agE Iwnfd srdvmes Hevm gfteg Tt & e qan et TR

(3) I gIgR surERh a9 wearh FE, fod e Sl o® oo FR W R,

(4 @& g=h Hifs smim 3 avfio e @@ T @R A o,

With reference to Panchayat Devolution Index, find the incorrect statement.

(1) The Index assesses how far the States have progressed in empowering
Panchayati Raj.

(2) The Ministry of Panchayati Ra) and the National Council of Applied Economics
Research have prepared the Index.

(3) The Index measures the functions, finance and functionaries of the Panchayati
Raj Institutions. '

(4) The Index was prepared by the NITI Aayog and the Ministry of Rural
Development.

51.

Tl TeIEE A el v fvarar waEw i ?

A W anfn qE q. IR 9

%,  HUSUE AEHE O T o

i I .

(1) %31, AT s (2) R T, F AMTE

(3) WA N, F AT T (4) w4 A, § A &

Which subjects are included in 12® Schedule of the Indian Constitution ?
a. Roads and bridges b.  Fire services

¢.  Slum improvements d. Postal services

Answer options :
(1) Onlya,bandd (2) Onlyb,candd
(3) Onlyva,candd (4) Oulya,bande
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52. ufrrdevia Grefiw faum femm an -
# “” o TR 38 @ 65 HeH IFHdN.
g, Tl TRwfaRae) 23 4 37 9SE THA.
#.  “Fa TIUiRTe 173 23 Ues JEar.
T ‘¥l Tmuieaed 117 17 9eH HEaw.
TRl ®or fau war mea ?

i I ,
(1) % 3, 9 AT * ' (2) FaTd, & A
(3) waa 3, F afor g (4) BF A, FAMNS

Consider the following statements regarding the Municipal Councils :
a.. There are 38 to 65 members in “A” Class Mum'cipal Councils.

b. There are 23 to 37 members in “B” Class Municipal Councils.

c. There are 17 to 23 meinbers in “C” Class Municipal Councils.

d. There are 11 to 17 members in “D” Class Municipal Councils.
Which of the following statements given above are correct ? '
Answer options :

(1) Onlya,bandec | (2) Onlyb,candd
(3) Onlya,candd (4) Onlya,bandd

53, oM N gften AR Tewla Tt soR/d A amer s 2
¥, N YAEdEl anEt saeen dava T,

%, feg whaeen e @iy i FaeaaE semEer stfavam a9,

T I :

(1) & A _ (2) W 3 A

(3) TR @) wE WM ®

Which of the following statement(s) regarding the Ashok Mehta Committee is/are

incorrect ? .

a. The Ashok Mehta Committee recommended the creation of a three-tier system
of Panchayati Raj.

Nyay Panchayat should be kept as separate bodies.
¢.  Zila Parishad should be made responsible for economic planning at the district

level.
Answer options:
(1) Onlya (2) Onlyaandb
(3) Onlyb : (4) Onlybandc
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54.  ufavwri st w@ TR

A, HEgSl AR WA 9 qqrEeft s

¥, T gt ageEy fiody 20

%. Toegitmrm s s fevaemea frerd wor

S, W3] FTEAT=N dqreeft

Tt I ;

(1) % A, & M0 & (2) S 3, § A 3

(3) Wad A, F Ml (4) Fo |, F AN

Duties of the Sub-Divisional Officer are

a. To supervise and inspect all revenue matters

To give decision in cases pertaining to land rights

¢. Torecommend to the Collector for grant of arms license

d. To inspect school administration

Answer options : ,

{1) Onlya bandec (2) Onlya bandd

(3) Onlya,candd (4) Onlyb,candd
55. @wd fadt wewh fuin smete aerr fregfert @i fisien fofafaeg wiomed anfer bt

feaaren s srfier =t A 2

(1) oo =mamEse 15 feaa=a wm

(2) IH =EEEERs 30 Eawre W

(3) fovmfia sgearRe 15 feaar=m 21

@) Teg Faeus sgFaess 7 feqaren Ha

To whom and when can the appeal be made against the judgment of a Collector on
the disputed election of a Sarpanch ?

(1) To District Court within 15 days
(2) To High Court within 30 days
(8) To Divisional Commissioner within 15 days

(4) To District Election Commissioner within 7 days
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@Ol S T T Semeevid arede faum e e

A & A oitga Wrarehd FaT TR FugEre UauEm .

. mﬁﬁwhwaﬁamamwwﬁmﬁmﬁﬁmm
HIYATET GEST Hel .

®. 1 AoHa FEERA TIHT HIOHE i dvar aAred T

FhedH S/ o aoer 311%/61 ?

it I ; _

(1) wF A T g (2) e & T H

(3) R ¥ I % (4) FHH

Consider the following statements regarding the Swarna Jayanti Gram

Self-employment Scheme :

a. This scheme is implemented to assist fanuhes llvmg below the poverty line.

b. Under this scheme financial assistance and government subsidies are provided
to furnish the families with permanent income generating tools.

¢.  Self-help groups are not assigned any role in this scheme.

Which of the statement(s) given above is/are correct ?

Answer options :

(1) Onlyaandb {2) Onlybandc¢

(3) Onlyaandec (4) Onlyc

57.

CIGIGATLIEREEIGR

3. wmmﬁmmﬁm%ﬁa@mﬁém

¥ YEd wdaie Faeuw devaardt wifte wrft 3y 18 9¥ yof s wi.

®.  YuEd TSy qeure fasue vy e smirren wriceivaredt Sder .
3. WWWWWWWWWW

FAvdh Fr/d faam avar A ?

i I '

(1) ad & T § (2) Wad H, H AN S
(3) wF A (4) WaHd Haftr g

Consider the following statements :

a. The Panchayat Samiti and Zila Parishad members are directly elected.

b.  The minimum age should be 18 years to contest election at the Panchayat level.

c Elections to the Panchayat Raj Institutions are conducted under the guidance
of the State Election Commission.

d. For the financial review of Panchayats, a Finance Commission is established by
the State Government.

Which of the statement(s) given above is/are correct ?
Answer options :

(1) Onlyaandb (2) Onlya,candd
(3) Onlya ' (4) Onlyaandd
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58. Weld faum famwm e .
#A.  SAgad Yl Gl T 1957 96 FogE oTel e
9. Sogaly Wedl e Neve A geas 2.
%, g gatm, B0, ua, dft, i R 3 afefiR s g A
. AW advey Fredia auma o sraeast simeaaart! ToeeE 3 e
T For e ava oea ©

At I _
(1) wa A, o= (2) ad A, 9 3fr g
(38) ad 31, % M g (4) SFAT, ®HNE

Consider the following statements :

a. The Balwantrai Mehta Committee was established in 1957.

b. Balwantrai Mehta was the ex-Chief Minister of Madhya Pradesh.

c. Thakur Phoolsingh, B.G. Rao, D.P. Singh were the other members of the
Committee.

d. Rajasthan was the first State to implement the three-tier Panchayati Raj
System.

Which of the statements given above are correct ?

Answer options :

(1) Only a, b and ¢ (2) Onlya,bandd
(3) Onlya,candd (4) Onlyb,candd

59. wrelie faym foemoa =
A, 73 ST GAREEIE NI FHOM TEE B HRATI oH T 3.
. 73wmgaﬁﬁwﬁﬁmﬁmmﬁmm¥gmm
Tl Froe/d faur aiar g 2

gt 3t :
(1) Rdd H (2) wEd o
(3) F iy (4) 37 afor 9 A T

Consider the following statements :

a. Maharashtra became the first Indian State to implement the
73™ Constitutional Amendment.

b. Mizoram, Meghalaya and Nagaland were exempted from the
73™ Constitutional Amendment. :

Which of the statement(s) given above is/are correct ?

Answer options :

(1) Onlya (2) Onlyb

(3) aandb (4) Neither anorb
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‘o @
¥, wm i ﬁm
T, 9 . 9u+d
®. WG jii. SWATIR
s P v, IR
oot I
H o o k-1
1 1iv iii ii i
(2) iii iv i i
(3) ii iii iv i
(4) iil il iv i
Match the pairs (Panchayat in Medieval Age) :
[ A! ‘B!
a. Moga 1. Shikdar
b. Pargana ii. Sarpanch
c. Prant ili. Amalgujar
d. Shik iv. Amir
Answer options:
a b c d
1 v iii ii i
(2) il iv ii i
(3) ii iii iv i
(4) ii il iv i

61. TP AR g A W TER ST U HET 76 Wielld Al GAEY 0

., VRIS T =AEAT
q. I URGN 2 B Ry T <Ed i SeRarerd

%, wuUsa, fadt anfor =t _
3. 2N faemm =sfs, 3 Twidsha %o S| R A g WE, JageH, WA §e

=gt i fateftagrEr Aar @
g I ; )
(1) w3 =1, & 0 & I omea (2) wtg g, % afr 3 9 s
(3) e T T A 3R (4) w4 yatg T RG

There shall be a commission to be known as National Judicial Appointments
commission, consisting of the following, namely :
a. The Chief Justice of India

b. Two other Senior Judges of the Supreme Court next to the Chief Justice of India

¢. The Union Minister Incharge of Law and Justice

d. Two eminent persons to be nominated by the Committee consisting of Prime
Minister, The Chief Justice of India and the Leader of Opposition

Answer options :

(1) Option a, b and ¢ are correct (2) Option b, ¢ and d are correct

(3) Only option d is correct (4) All options are correct
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62. TreUEfid JAN 9 GeEEEd GER SECA UDYHl, STRWER oTeEW orwEl vl
HEET] = 9G] higd <hiel, T 3Teay r9dl veed, Ir=a1 faeg Qrefid Tt ofe &

q. WAl FEEIAY/IEE] hdsaEel TEIE W AR =T ggEdl T ST
IHITE

®. Uyt frshaia @ wilife e Amfhe geedye 9¢ 91 ST AT eI,

T NEdupREdt gt ot .

Tt I

(1) vaE ¥, & anfe < I e

@) wd iz v SR

(3) vAM ], & oNft T Ang Mg

(4) wEE H, § A0 T I HEd

In case of a complaint against the Chairperson or member of Lokpal, the President

may, by order remove from the office, the Chairperson or any member, if the

Chairperson or such member as the case may be

a. is adjudged insolvent.

b. engages during his term of office, in any paid employment outside the duties of
his office. '

c. in the opinion of the President, unfit to continue in office by reason of infirmity
of body or mind.

d. deemed to be guilty of misbehaviour.

Answer options :

(1) Options a, b and ¢ are correct
(2) All options are correct
(3) Options b, ¢ and d are correct

(4) Options a, b and d are correct

63. Hals AT e HRESH ITE S0 HE ?

(1) Tyt (2) dawEE
(3) WRAN T (4 uwE

By whom is Advisory Jurisdiction of the Supreme Court used ?
{1) President (2) Prime Minister
{(3) Chief Justice of India (4) Parliament
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64, TUER =h, UNAE TuueAwl Ao 217(2) <Y WRiayh Horar fde 3=
=rerare =it v e fuaw aw s 777 2
(1) = YA TR S @

(2) 1 el WTare UsgaT fRrm 10 9 =i v anv e a1y

(3) @ =f I AW U oF fha fiw =EEEE @ et 10 a
ftraeh aTme

(4) w1 SuEhh S nhmeen fere Fel

Under which of the following conditions as per Article 217(2) shall a person not be

qualified for appointment of a High Court Judge ?

(1) He is a citizen of India

(2) He has held a judicial office for at least 10 years in the territory of India or of
two or more such courts in succession

(3} He has worked for not less than 10 years as an Advocate of a High Court

(4) His name is not recommended by the Council of Ministers

65. WHAAdh FITIE HRIEET SHgd AT grae Hear I
A, g g
|, Il
. wigen =R, FARETEa I THT, TARHR, T I 309E) [t At
3. ichinga MhR AT FE SO THER T T el 75 T N 9 9o JdW
ot I
(1) vt ¥, 9 3nfr % dvg andq
(2) YIgw, & g 49 sRd
(3) W& voiw 4 IRd
(4) e Uglg a1 anfor € v IRd

Ordinarily the letter or petition falling under the following categories should be
entertained as Public Interest Litigation :
a. Neglected children
b. Bonded labour matters
c.  Petition against atrocities on women, bride burning, rape and murder, etc
d. Petition against the police for refusing to register a case and also for
harassment by police in police custody
Answer options:
(1) Options a, b and ¢ are correct
(2) Options b, ¢ and d are correct
-(3)- All options are correct
(4) Only options a and b are correct
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34 A

R ATETe Wil Fru/dt T/ v e 2

¥, oEE D hiaEd 1efie, 2002 3 31 1, 2007 B

9. A4 95 v 8%

%, AR I8 sEe 10%

3. 2007 Wd WA 918 7%

ol I ;

(1) % 3 (2) % A M0 g

(3) & N, 9 A0 % (4) e wd

Which of the following statement/s is/are applicable for the Tenth Plan ?
a. The Tenth Plan’s duration was 1 April, 2002 — 31 March, 2007
b.  Target of GDP growth was 8%

c.  Target of industrial growth was 10%

d. Increase of literarcy to 7% by 2007

Answer options :

(1) Onlya (2) Onlyaandd

(3) Onlya,bandc (4) All of the above

67.

wrefierisht Hioft fermaT Iaq-awq et T Fe ?

(1) wEeAEE

(2) T A

(3) W, Fehier T L3R, FHETR

(4) S wirEd

Who of the following formulated the wage-goods strategy of development ?
(1) Mahalnobis

(2) Ragnar Nurkse

(3) C.N. Vakil and P.R. Brahmananda

(4) Jagdish Bhagwati

68.

YRAThe ST gEa R o/l /A 2
w.  fieerEn anna d. UMW 90

®, I gATH g afgw
gt I ;
(1) SRAFTNET (2) HHA® (3) S A JM T (4) qH T

Which is/are the main cause/s of unemployment in India ?
a. Lack of education b. Employment policy
c.  Inappropriate technology d. Poverty

Answer options : |
(1) Onlyaandb (2) Onlyec {3) Onlyaandd (4) Allofthe above
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69. TP IR 2-1 T UH gEd] A13 UEEH — AW ¥ ufged vaiiie dNAR d€d 8,
e 3 f 3.
(1) wfad 3-3 28 <0
(2) et 4-2 78 g
(3) ufdant 4-5 2% R
(4) wieadl 5-6 & A
The First Five Year Plan’s target was 2-1 percent per annum increase in national
income, actually it was fulfilled by
(1) 3-3 percent per annum
(2) 4-2 percent per annum
(8) 4-5 percent per annum
(4) 5-6 percent per annum

70. Wil MRa™ G T IA WG fae it gamors w1 Som ot S e
Zifer ? '
(1) werrg - (2) N (3) T 4) @
Which of the following States in India shows a wide variation in higher human
development and relatively lower income ?

(1) Maharashtra (2) Punjab 3) Gujarat (4) Kerala

71. R AR TS &Y SMeEH HITE ?

A, ISR IuA

¥, ICEES fawman

%, Ty

3. aUerTiE! awen

tlﬂ'hﬂ‘ﬁl"l:

(1) % H 2) ®FHF
(3) wad ¥ MU = (4) TR @

Which are the main challenges in the Indian Economy ?
a. Low per capita income

b. Income inequality

c. Poverty

d. Problem of unemployment

Answer options ;

(1) Onlya ‘ (2) Onlyb

(83) Onlyaande (4) All of the above
o] TITAIS! 9IFN / SPACE FOR ROUGH WORK , P.T.O.




L13 36 A
72. @reitd faum foemm

3. 1984 T HERTY WETH YRR sreHdivier geamitye aftrd e 3e.

9. @l fam IR = afirde sty AR

et HoR/d RurA avtar s/ 2 .

(1) % A (2) WA (3) Hamfrs (4) AT a1

Consider the following statements :

a. In 1984, the Government of Maharashtra appointed a fact finding committee

on regional imbalances.

b.  Dr. V.M. Dandekar was the Chairman of that committee.

Which of the statement/s given above is/are correct ?

(1) Onlya (2) Onlyb (3) aandb (4) None of these
73,  TETSAT AN HIVT HATAT T §F FHE AT ?

w. et @

9. P&

. GEHN &7

s Tewaw

it S _

(1) g A (2) ST AU T (3) wRE (4) amdehr A

Which sector is assumed as ‘Core sector’ in the Tenth Plan ?

a. Industrial sector

b.  Agricultural sector

¢. Co-operative sector

d. Educational sector

Answer options :

(1) Onlya (2) Onlyaandb (3) Onlyb {4) None of the above
74.  2011- 12771 9T 2004 — 05 =1 fER fFwden gt damn Ywe R Fm o 7

(1) 16-48 (2) 26-11 (3) 5742 (4) 2964

What was the percentage share of tertiary sector at constant price of 2004 — 05 in

the year 2011 -127?

(1) 16-48 (2) 26-11 (3) 5742 (4) 29-64
75.  @ieidhl FvmEn 3F 1999 — 2000 Tt WRaRiS Siigare = gHfeat ?

(1) 360% (2) 27-10% (3) 26-1% (4) 37-3%
Which of the following figures indicates rural poverty ratio of India in 1999 — 2000 ?
(1) 36-0% (2) 27-10% (3) 26-1% (4) 37-3%
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76. @G 13 20 91 Yafie TEISAT IEE A NS Fi 1@ T AR, A e iy
wEade ghe faum faer.
20A,16154B1zc1076D2171498518E
(1) D =1 Fuierch fra B =1 fhwdiqen =_ed.
(2) E I auierrh fHra Rfvaaao 13 sm.
(3) AT auierr fma Rfveaud 3 3.
(4) B fwd ws a1 R 19 s@e.

Given below is a list of natural numbers 1 to 20 in such a way that sum of each
adjacent pair is a prime number. Study the list and select the false statement with
respect to it.
20, A,16,15,4,B,12,C,10,7,6,D, 2,17, 14,9, 8,5, 18, E
(1) Value of alphabet D changes according to value of B.
(2) Value of alphabet E is definitely 13.
(3) Value of alphabet A is definitely 3.
(4) Value of B may be either 1 or 19.

77,  SETEH AR Wik Wi fRm song suts Bew.

!’i \\ -
I’; N
Ja
[—
8 17
1 = s
15 ) 30
5 1
3 = =
) 3 (4) 5

Select the fraction that represents lined part of the accompanying rectangle.

(1) (@

e b s
Ul|m TW"H-.

3) (4)

| = wll—n
o~
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8. TR RS TG R TR e qreRera T shargdt s foawrmd

N
i
1
/7
(1) E (2) FE—

Left-hand transparent paper sheet is folded to get single square shape as shown in
the options by folding along lines. Select the most appropriate fold.

T

—n

(1) Q (2) 1&
(3) B— (4) @

O] HETETSE AT / SPACE FOR ROUGH WORK
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79. 2R Yt A fgugH e gea Hell. T IREHR G T g Sarhr HeE s
| R TR e e, G SevarEiE wireaet Srhiar 3 A e S R st

e
3 ft
3 oy
A
49+
5 gt
(1) 36 (2) 15 3) 6 4) 9

Two ants start from point A together and walk at the same speed, one along square
boundary and other along rectangular boundary. Select the minimum distance in cin
each one of them needs to cover for meeting again. :

3 cm

S5cm
(1) 36 {2) 15 3) 6 4 9

80, e TR 19 i Fre TR gen THRERE B, aF e Bty Ao Tl o agdi
TR TR W o Rraw ywR S 3 d g G
(1) 20C,, ' (2) 19Cy4 (3) 20C,, (4) 18C
- Select the number of ways 19 pink balloons and 17 blue balloons be tied in a row so
that no two blue balloons are together if all are otherwise identical.
(1) 20Cy, (2) 19Cy, (3) 20C,q (4) 19Cy4

81. wﬁsmmﬁtﬁmméﬁnﬂaﬁmwﬁﬁmﬁ4%ﬁmwﬁw
FI9S i HTE He arsh 10 et T SR Fe df fed Siat |reTd ?
(1) 40 frfi (2) 30 fmf (3) 20 fwf (4) 10fef

Jaya travelled a distance of 50 km in 8 hours. She covered a part of distance on foot
at the rate of 4 km per hour and a part on a bicycle at the rate of 10 km per hour.
How much distance did she travel on foot ?

(1) 40km (2) 30km (3) 20km (4) 10km _
T BIRTHIS! SR / SPACE FOR ROUGH WORK P.T.O.
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82, HETCIT AEEE 3 HE AEGd A AGH HET Gad @eviE T FOAE TG AW, I
TER Y e geEw ell; AV wue e #AR, e R S S, o @l
ITAIN FH ANII FE Uhd, W TN R geam el T AT ITST e B
®M AT Bme 3fEe nfi SaRE § wongda fagd e onfon gareg wiftarsr @
T Y247 @a:d o7 sAdw 0 3 EEE TH. WO 3@, qurd, feemen, s i
& AN WA . AT CHATE, Goreh T SN s gt domren wagehd
R 3. W @ 7 M@l 9 at e 9 IauyiaEtd) IeeAT 9 et di = et
JUATE VT AR F; R (IFAH) T AVEI G169 Y AU FH e ? A ar
e A I=aN THME R T ISt fai d0, w1, ™ @S, Juun w0 3 e
0 I Tiesa .

Higd=a1 Feardi=a AR Y¥qT 398 €19 ) @ TR 9t R h
(1) oA fifes meEte $9 e SR,

(2) RFHTET IEEAHR WIVH W41 608 Seuags e sl s
(3) o g SfeATen 23 MuvaT Taded .

(4) AR A SeEren SR e FATE Ao JEan.

Much of what goes by the name of pleasure is simply an effort to destroy
consciousness. If one started by asking, what is man ? What are his needs ? How can
he best express himself ? One would discover that merely having the power to avoid
work and live one’s life from birth to death in electric light and to the tune of tinned
music is not a reason for doing so. Man needs warmth, society, leisure, comfort and
security : he also needs solitude, creative work and the sense of wonder. If he
recognized this, he could use the products of science and industrialism eclectically,
applying always the same test : does this make me more human or less human ? He
would then learn that the highest happiness does not lie in relaxing, resting, playing
poker, drinking and making love simultaneously.

The questions asked in the first part of the text reveal that author implies that
human beings

(1) have other needs along with physical needs.

(2) are separated from their true nature as a result of products of science.

(3) are always engaged in seeking the meaning of life.

(4) are always engaged in finding the purpose of life.

83. 1 anfo e FH 3 Fiecfwias Juw worg, ed. ufe 3 Y gl 3 duaie TH Wy

aRd. TRa 9 FOT frhe @ TEicfisio 399 WaTg aTigd. Wi, TRG 9 WAg $ealdt &
SHeEIAY Id Gerg, IR,

Bihl, e 9 sEiciiaioraT IUH BTG 0T 3R ?

(1) =f (2) Fa 3 @ (4) a

Ravi and Kunal are good in Hockey and Volleyball. Sachin and Ravi are good in
Hockey and Baseball. Gaurav and Kunal are good in Cricket and Volleyball. Sachin,
Gaurav and Mandip are good in Football and Baseball.

Who is good in Hockey, Cricket and Volleyball ?

(1) Sachin (2) Kunal (3) Rawi (4) Gaurav

errmﬁrmrrr { SPACE FOR ROUGH WORK
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84, “YRaTd I T ARRFEEHTT AGHA Tgade ST T
i, st onfr Wisaw e whElimwg nfde e fmio 8. wor areEwta s
YD SHTEATST IS AW, WA [EEA FEL TEAEAS IRd. i @ ags
FESTHAT A a8 A T A WEARET WA ehUET A, FEATS SHUTEA G Ferhrl
YRarde wliesm T Se gaid g TR,
Tfia middasuris st sefidaaA s
A WA TEdE T Se Gald 6e TEEAYS ‘O sHar § AR uh 9ed 3T,
9. Weudd Sl IEUd T e I SHRUaTd! e S et el wifed.
F.  WEH JATAT SWRUTETE WSuTiel SEuTe g UM FE¢ Saedl §44.
. mmmmmmmmaﬁmﬁwaﬁmﬁ

agiEft IW :
(1) ST Thel e (2) $ 5T g
(3) & TTSAT TR A (4) o ST qA

Study the following observation noted by author with respect to “Make in India”

initiative :

Economic production arises from a combination of land, labour and capital. But with

this respect, the hurdles for business are immense. India’s land acquisition laws are

impossible. Trying to buy land drives most entrepreneurs to distraction — or resort to

corruption. The current land acquisition legislation is unworkable. And given the

terrible state of land records, there is no chance anyone can do better. Only the

movement of the rural population to urban life will solve the land problem.

Unfortunately, India’s urbanization is one of the slowest in the world.

Select the appropriate interpretation/s with respect to the above information.

a. “Make in India” initiative is suffering as India’s urbanization is one of the
slowest in the world.

b. Rural population should migrate to the urban areas and vacate rural land for
setting up industries.

c.  Government should make laws favourable for procuring rural land for setting
up industries.

d. Government should make it compulsory for rural population to migrate to the
urban area for national development.

Answer options :

(1) Nonebuta (2) Allbutd

(3) Nonebutb | (4) Allbutb

FOET PIHTHIS! AR / SPACE FOR ROUGH WORK . P.T.O.
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85. TG The News : A User’s Manual. (FI6eT: aTROTIIG13T Fricher) M qeas| $ sigd
A ey A wuedH wen defl AR, ¥ FUST Goid WIS W Sied w9
FOAIS! SAfeeieera 3rgTe AWl W WA R, WS WY AT A FeAAA TSTS F
LA fm/ Fere,

H.

5,

8.

UShIT ST AT SAT=AT WIS qrars aeryfoges fm dredie aftr Frafiauo:
HEUIAT qT$E T YURTIETS) Helt Hel Nedg e,

ST SEIETEEAT SYATT A6 i

TET=AT STaH AT YR AT e geft Savarard! w Gu s € A
fiezarre Aga FA 9 @R eI e JfigH I N T AR w5 .
TRIT=AT ST AT faae o stfadsht ade e w@d.<ar yafies a1 que duarh
ey Frafaa et mw A et el seeRyul A

gt I

(1)
(2)
(3)
(4)

% Wi o

% @9 UHd AmE

Td FHO AT YFERT 7gW & g

THET ATE FHWOT 7 Hed1 AT HIVH FUH A9 TR $gravael] Hed i

De Botton imagines ‘ideal news organisation’ in his new book The News : A User’s

Manual. He expects that this organization exists solely to enrich lives of the
members of society. Select the statement/s that/those does/do not support/s his
imagination about ‘ideal news’.

a.

Political news would paint a sympathetic picture of the social realities of our
nation and encourage action to correct its ‘systematic ills’.

World news would create a detailed, sensory overview of other cultures for
helping us to break the shackles of our ‘globalised provincialism’.

War news would help us to know how our war heroes struggle to keep us safe
from our enemies so that we can celebrate their sacrifice and killing of enemies.

Crime reporting would highlight chronic human folly and the need to both
understand and control our emotional impulses.

Answer options :

(1)
(2)
(3)
(4)

All butc
None but ¢
All as they don’t give any importance to nationalism

None as all of them are helping us to widen our perspectives as human beings

FOET FATRIS! RT / SPACE FOR ROUGH WORK
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86. fAwr: A T wi o e,
. I8 ol Sew R,
&, ud 5o9 geed I
Fesy: 1. ud Besd o IR,
1. i wm wig o
gt P
(1) Fend 1acq Mg
(2) Freed 11 v g
3) frerd 19 11, 3¢ wew omRa
(4) s 19 11, S o0 aea
Statements: a. All switches are plugs.
b. Some plugs are bulbs.
] c.  All bulbs are holders.
Conclusions: 1. All hoiders are plugs.
II. Some plugs are switches.
Find the eorrect alternatives :
(1) Conclusion I is true
(2) Conclusion I is true
(3) Conclusions I and II, both are true
(4) Conclusions I and II, both are untrue
87. U foum ek gl oft enfed, #t weivE T ot Imia } 1o, TE-Aes oM Ig Al

&, WA d I FAM MG 37 T, m?ﬁaﬁﬁﬁwmﬁwﬁm@iaﬂ%
I GE-<Iei UHoidl Uk GorT Sy df wata FHi Sl

II. WEE oW gawea sieuiteft snaet g anfor a1 =ers van it wamadl.
TE-TTI T AR ?

(1) onfem (2) wivE

(3) 3mH (4) onfea far anitg

In a certain flight crew, the positions of the pilot, copilot and flight engineer are held
by Mr. Aadit, Mr. Dhananjay and Mr. Amogh, though not necessarily in that order
given. The following statements are true for all the three :

I.  The copilot is an only child and earns the least.

II.  Amogh is married to Dhananjay’s sister and earns more than the pilot.
Who is the copilot ? '

(1) Aadit . (2) Dhananjay

(3) Amogh : (4) Either Aadit or Amogh
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88, UH il TR 10 R o wavamRar € 160 ¥, samed s S e o aofs
ATRA. Th TR AT 16 et iew wovamiar T 276 33 S wmndl S w1es yRE
wrat fifvam o= gore @@ s,
at i wfa feraiimier <t femelt a1 2
(1) <10
(2) T13
3 T11
(4) T 17
A man paid ¥ 160 while travelling 10 km in a taxi which has some initial fixed
charges. Another man paid ¥ 276 for travelling 16 km and the taxi driver charged
double of the initial fixed charges from him.
Then the charges of the taxi per km are
(1) T 10
(2) ¥ 13
3y <11
{4y T 17

89, dfsti Wey= I Higdl YE= A=A U MR, IgT quiHal afgeiid 99 UThesn qelrea
FarE fovre ga, SR o= 29 Ao agra 15 99T 3R IR, W afeeis o 99 fRdt ¢
(1) 11098 (2) 7034 (3) 60T (4) s0¥
The present age of the father is twice that of the elder son. Ten years hence, the age
of the father will be three times that of the younger son. If the difference in the ages
of the two sons is 15 years, the present age of the father is
(1) 110 years (2) 170 years (3} 60 years (4) 50 years

90. i 40% Farneatft i) sufir 70% yTemEd TR AigEet smEd. T 15% Reneath

Tt & e A GREEE) A1 Aicaeied! I @, aal famaitht uwEETdt T T digaeen
faeneai=ht exhar frast.

(1) 5 (2) 15 3 0 4 25

In a class, 40% of the students enrolled for Maths and 70% enrolled for Geography. If

15% of the students enrolled for both Maths and Geography, choose the percentage
of the students of the class which did not enrol for either of the two subjects.

(1) 5 (2) 15 3 0 (4) 25
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91, WENTIES QFEErE UdT HIEUErhaT Gielle TATET 19 Hell ATl :

A, Wmm_ﬁwﬁ -

7. wEwERh e T (SRR = “s'ém'wé'qg:;"a( ﬁ‘“@'m”')

. _ Foeam g s (J.f5)
¥ TR e T = TR e s (e

ot I

(1) 31 T
(2) &SR

(3) AT AW
(4) & TR

Calculating the density of population in Maharashtra using the following formula :

Population of Maharashtra

. Population density of Maharashtra =
2. Toptiation Censity of Manarastra = otal Population of Districts

b. Population density of Maharashtra (sq. km)

_ _Total Population of Maharashira
Total area of Maharashtra (sq. km)

Total District area (sq. km)

c¢. Population density of Maharashtra =
P ensity o ashira Total area of Maharashtra (sq. km)

Answer options :

(1) ais correct

(2) bis correct

(8) aandb are correct
(4) cis correct

el HETHIST ST / SPACE FOR ROUGH WORK P.T.O.
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92, wehw faumnd g@#ie fum S ?

A e TS AT AW a6 9 YAHEE S 9 gEd.

T I AT 91 gigeEarar ST o g, |

. Ffgaar=n S FT SETe ase gRem g
3. qfgaarsn wyeiaugs s g i fawm srftr S g

arh I :
(1) %Fd A (2) |9
(3) wFd® (4) OEE wwdt T

Which of the following statements is incorrect ?

a. Intellectual migration leads to increase in young and talented people in the
arrival region.

b. Intellectual people benefit the arrival region.
Migration of intellectual people badly affects the arrival region.

d. Migration of intellectual people results in fast economic development of the
arrival region.

Answer options :
(1) Onlya - (2) bandd
(3) Onlyc (4) None of the above

93. WA At mEryHE wie el faet. e 2 .
(1) 420 (2) 440 (3) 470 (4) 520

What is the length (km) of Sahyadri Mountains of Maharashtra ?
(1) 420 (2) 440 (3) 470 (4) 5620

94, SIATUR SR IRE 9 MO FHE v Feh @t @ ?

(1) gkt 9 i (2) g = arft

(3) YT F HEHT (4) ¥ F YT

Which river basins lie to the north and south of the Balaghat Plateau ?
(1) Godavari and Bhima (2) Narmada and Tapi

(3) Panchganga and Ghatprabha (4) Wainganga and Penganga

95.  3r&ar frEr werrgreA Sven fewma R 2

(1) s (2) e (3) R 4) 42
The Astambha peak is in which distriet of Maharashtra ?
(1) Nashik (2) Amaravati (3) Nandurbar  (4) Dhule

o TS ST / SPACE FOR ROUGH WORK
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96. Wi g ? Imaw gasem uiwng e s (Feft) o 2
(1) 172 fwi (2) 174 et (3) 176 fHh 4) 178 foft
What is the distance (km) from the ‘Bombay High’ oilfield to the western side of
Mumbai ?
(1) 172km (2) 174 km (3) 176 km (4) 178 km
97, Wch g Rieedt IITwAm Tk i aaE s (<. fefl) soren s .
F, WE 5. TeRE F. e |
. IHEdl 3. @y
qgTet IW
1 %9 %3 (2 #,9,%,3,%
3 %8, %% 4) %3393
Arrange the following districts as per the availability of forested area (sq. km) in
descending order.
a. Chandrapur b. Gadchiroli ¢.  Gondia
d. Amaravati e. Wardha
Answer options :
(1) d,e,b,ca (2) a,b,c,d,e
3) b,a,d,c,e ‘ (4) ¢, d,eb,a
98. 2011 =1 SFRIVHIHR TIHEEE=A1 Fadid FERIEET SRAW fhaar e anral ?
(1) ufgar (@) g (3) famm (4) e
What is the rank  of Maharashtra in population in India, according to 2011 census ?
(1) First (2) Second (3) Third (4) Fourth
99, WHieU TERTEHEY FUSWEHAT SV S 9T Hald S @b Saard ?
#, S 9.  Hwet %, fadt € &A%
T AR %.  garsl
it I
(1) AA=T (2) ®dE (3) 39% (4 ANdE
Which of the following are the two highest spoken languages by the peaple after
Marathi language in Maharashtra ?
a. Tamil b. Malayalam ¢c. Sindhi d. Kannad
e. Bengali f.  Punjabi
Answer options ;
(1) aandb (2) candd (3) eandf (4) aandd
100. Wt Hivd) 76 Tigradien ITeAT AT ITA IR ?
(1) =@ 2) Fremm (3) guM (4 w=ld
Which of the following rivers is the right bank tributary of Godavari ?
(1) Manjira (2) Shivana (3) Dudhana (4) Sabari
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(8) Weyfsrnen fafea Screw fafime Ivfie = oW (& a%) F09. wgRF=ffiE Soubeat a1 3
FAEER = FIH HeATE T HY HOITN IR Ho A, 3/ A Il 7 ANER IR W
I Foren Coiamed g Raew sy weaEEae afufEm-g2” adie wgdier s
O TEA 7 ot adt T U Setem wrEwrE onfi/fear 5 o R @i deren e
ElER

(9) TR FEIGRRAE A ffgd FAA 5 Feeara WERET @ TEYRET @ aie FameTsTt
YF T Y@ . WA dierehsragt woagdt IganE nuear JeafidEr w1
TS 7 fawtET WA =0 SmEvaE A, ,

7. . 201.

§. . 201.

oigall "ol
A T T HOATETS! 1l emdl: T Hhet ?
(1) @nft g st (2) SatEg fammaTR
(3) T THERA TE (4)  TYISF T
S A IR Q) aan w48 o . @S @ sEe T ey B,
aRTE WA T . 201 @E Iwews Q) @ age i swite wE
TrEfed TEvEE .

© @ @ O

I YA T T Yo AT qAe SoR-FAT @ QR s e
IAUBHEA R W TEFAFEANE wafid age et Sk #E grEaE. geRt
R BT WS e g, AR a1 v 9 9w 4,
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